
 
1. Найди значение выражений, используя 
сочетательное свойство сложения. 
(132+56)+44 = ___ +(___ + ___)= 
(149+301)+203 = ___ +(___ + ___)= 
(125+392)+75 = ___ +(___ + ___)= 
 
2.Найди значения выражений, используя 
сочетательное свойство сложения. 
(48 + 27) + 3 = _________________________ 
(254 + 86) + 1=_________________________ 
(57 + 692) + 8 =________________________ 
(399 + 299) +1 =________________________ 
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(399 + 299) +1 =________________________ (399 + 299) +1 =________________________ 
 

 


